Table 1: The greek letters of Latin Modern

lower default upper default \mathbf \mathit
\alpha lo4

\beta B

\gamma Y \Gamma r r r
\delta 6 \Delta A A A
\epsilon €

\varepsilon £

\zeta 4

\eta n

\theta 0 \Theta Q) S e
\vartheta g

\iota 1

\kappa K

\lambda A \Lambda A A A
\mu 7.

\nu v

\x1i & \Xi = E =
\pi m  \Pi I1 I1 I1
\varpi o

\rho p

\varrho 1)

\sigma o \Sigma hX )y )
\varsigma S

\tau T

\upsilon v \Upsilon Y Y Y
\phi ¢ \Phi d P P
\varphi [0

\chi X

\psi v \Psi v v '4
\omega W \Omega Q Q Q



